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NEW QUESTION 1
Refer to the exhibit.
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A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 2
Refer to the exhibit.

def get_resuit()
url = "https://sandboxdnac.cisco.com/dna/system/api/vl/auth/token”
resp = requests.post(url, auth=HTTPBasicAuth(DNAC_USER, DNAC_PASSWORD))
result = resp.json()['Token')

return result

What does the python function do?

A. It returns DNAC user and password.

B. It returns HTTP Basic Authentication.

C. It returns an authorization token.

D. It reads a token from a local JSON file and posts the token to the DNAC URL.

Answer: C

NEW QUESTION 3
What are two advantages of version control software? (Choose two.)

A. It supports tracking and comparison of changes in binary formate files.

B. It allows old versions of packaged applications to be hosted on the Internet
C. It provides wiki collaboration software for documentation.

D. It supports comparisons between revisions of source code files.

E. It allows new team members to access the current code and history.
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Answer: DE

NEW QUESTION 4
In python, which expression checks whether the script returns a success status code when the Requests library is used?

A. response.status_code== requests.ok

B. respons.status_code== requests.codes.ok

C. response.code== requests.codes.ok

D. response.status_code ! == requests.codes.ok

Answer: B

NEW QUESTION 5
Which REST architectural constraint indicates that no client context should be stored on the server between requests?

A. stateless

B. uniform interface
C. cacheable

D. client-server

Answer: A

NEW QUESTION 6
Which two use cases are supported by Meraki APIs? (Choose two.)

A. Retrieve live streams from a Meraki Camera.

B. Build a custom Captive Portal for Mobile Apps.

C. Configure network devices via the Dashboard API.

D. Build location-aware apps from Wi-Fi and LoRaWAN devices.
E. Deploy applications onto the devices.

Answer: BC

NEW QUESTION 7

Fill in the blanks to complete the python script to request a service ticket using the APIC-EM rest API for the user “devnetuser”.
Import requests RIERT | SEIce icket using the APIC-EM RES
ImMport json

controller = ~
Gl = s J,.LEPVT"'LIF' CISCOo com/sandbox/apic enmy’
Wps /7 + controller + “lapuvaiticket” -5

payload | 'Usermams' !
header = [ "Contemt type’
es nse —

PO post{url, data=json dumps{paykoad)
headers= |_ verty=F alse)

' T ' password AT 1274 Fagry
apphcation/json’ } }

_S0n — response json()
pnnt{r_json)

ticket r_son|“response”|["service Ticket"]
prnntibcket)

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Solution as below

import requests

mport json

controller = "'devnetaps cosco com/sandbox/apic em’
url = “hitps /™ + controller + ~/; vaicket”

e

payload = ( ‘'usemame” ' devnetuser ] ‘password’ "3713876577)
header = [ "Content-type’ "apphcation/json’ } -

response = equests l post{url, data—json dumps(payload), \
headers— ‘1&&3{_'!9!! 1 verfy=False)

r_json = redponse json()

pnnt(r_json)

ticket = r_json["response”|["sernvice Ticket™)
pomt{cket)

NEW QUESTION 8
Refer to the exhibit.
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Which two statement describe the configuration of the Ansible script is run? (Choose two.)

A. Traffic on port 0/2 and 0/3 is connected to port 0/6.

B. Traffic from ports 0/2 to 0/5 can flow on port 0/1 due to the trunk.

C. Traffic can flow between ports 0/2 to 0/5 due to the trunk on port 0/1.

D. GigabitEthernet0/2 and GigabitEthernet0/3 are access ports for VLAN 6.
E. GiabitEthernet0/1 is left unconfigured.

Answer: BD

NEW QUESTION 9

Which way should be used to safely the API keys?

A. In an environment variable unique to the system database

B. Encrypted in a configuration file that is separate from the code
C. Encrypted in the code in a function

D. Plain text in the code as a constant

Answer: B

NEW QUESTION 10
Refer to the exhibit.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
Ll SUI’E PaSS https://www.surepassexam.com/200-901-exam-dumps.html (100 New Questions)

URL: https://<ASA_IP>/api/access/global/rules
Method: POST
Payload:

{
“destinationAddress”: |{

“kind”: "“IPv4Address”,
“walue”: *10.1.1.1”
},
“remarks”: [ ],
“active”: true
“permit”: true,
“sourceAddresa”: |
“kind”: “IPv4Address”,
“value”: “192.168.1.1"

Response Status Code: 400 Bad Request

{“messages”:[{“level”:"Error”,"code”:"ISON-PARSE-ERROR", "details”:"

Unexpected character (\" (code 34)):

What caused the error in this API request?

A. The API resource does not support the POST operation

B. The API resource does not support JSON format payloads.

C. The submitted JSON payload includes a field that is not supported by the API resource.
D. The submitted JSON payload has a formatting issue

Answer: D

NEW QUESTION 10
Refer to the exhibit.
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base _url = “htt s://api s
network id = "L_‘;zadgﬁl;sgl::zaki'cm}apuva’
api_key = “1@98hadpfsiapsf8ahf8ohp”
requegts.{item 1>
<item 2> + "/<item 3>/" + <item 4> + “/<item 5>~,
headers = {
"X-Cisco-Meraki-API-Key": “<item 6>",
"Content-Type": "<item 7>"

} .
<item B>={“<item 9>":<item 10>})
Drag and drop the code from the left code from the left onto the item number on the right to complete the Meraki code to obtain a list of client which have used this
network.
e — I - TR TN
Params === ] ] —_— e —
—— _"_ — — - <item |-
networks - [ [ — . e ]
—_— N __'—————---__ — - <item 2. ]
timespan - o e———

l _ tom | “ ' j

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-d,2-f,3-b,4-h,5-i,6-j,7-9,8-a,9-¢,10-¢

NEW QUESTION 14

Fill in the blanks to complete the statement.

Cisco DNA provide the capability to send an HTTP request to the API endpoint https://DNA-c_ API_ADDRESS/api/vi/network-device/ and receive the

network listin format.
:m!]mmmw““"’“‘“""“fﬂﬂd“"‘vlﬂmﬂmnlw{ i T | request 1o the AP endgg
IETpa://ONA-C _AFI_ADDRFAA/api/v]/netwos vl ol " - = - —mopo

I j format s AN raceive the nstwak I —— I It wn

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Solution below as
Cisco DNA Center provides the capabudity 10 send an b1 P GET

hREtpa: //DNA-C APT AT HESD S aps s 1 fn E : i ] i eI .
- F. L vl Fnetwnor de v oeS and recenae e network - .
I]'.'*':l.’JN _J format kap_- - I o
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NEW QUESTION 15
Which type of HTTP method is used by the Meraki nad webex teams APIs to send webhook notifications?

A.HTTP GET
B. HTTP PUT
C. HTTP HEAD
D. HTTP POST

Answer: D

NEW QUESTION 17
An automation script fails to connect to an internal server exactly 1 out of 2 times it is executed. This behavior is seen from different clients. Which networking
device mut be at fault?

A. Laptop on which the scripted is running
B. Router

C. Switch

D. Load balancer

Answer: D

NEW QUESTION 22
Which status code is used by a REST API to indicate that the submitted payload is incorrect?

A. A.-400B.403C.405D.429

Answer: A

NEW QUESTION 24
What is an example of a network interface hardware address?

A. domain name

B. IP address

C. workstation name
D. MAC addess

Answer: D

NEW QUESTION 26
Which two statements are true about Cisco UCS manager, Cisco Intersight APIs? (Choose two.)

A. Cisco Intersight API interactions can be encoded in XML or JSON and require an APIs key in the HTTP header for authentication.

B. USC Director API interactions can be XML- or JSON-encoded and require an APLs key in the HTTP header for authentication.

C. UCS manager APl interactions are XML-encoded and require a cookie in the method for authentication.

D. Cisco Intersight uses XML to encoded API interactions and requires an API key pair for authentication.

E. UCS manager uses JSON to encode API interactions and utilizes Base64-encoded credentials in the HTTP header for authentication.

Answer: BC

NEW QUESTION 30
Which PAl is used to obtain data voicemail ports?

A. Finesse gadgets

B. Cisco Unified Communications manager
C. Webex devices

D. Webex teams

Answer: B

NEW QUESTION 31
What are two characteristics of Bare Metal environments that are related to application deployment? (Choose two.)

A. Provide the hypervisor to host virtual servers

B. Specifically designed for container-based workloads.

C. Provides workloads with access to hardware features

D. Suitable for legacy application that do not support virtualization

E. Not compatible with other cloud services such as PaaS or SaaS offerings.

Answer: CD

NEW QUESTION 33
Drag and drop elements of the RESTCONF protocol stack from the left onto the correct description on the right. Not all elements on the left are used.
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A. Mastered
B. Not Mastered

Answer: A
Explanation:

1-B,2-E 3-F

NEW QUESTION 37

s ———

GET, POST. PUT, PATCH, DELETE

phed atiads

e b

Drag and drop the HTTP methods from the left onto thelr generally accepted corresponding create, read, update, and delete operations on the right.

L DELETE

GET

A. Mastered
B. Not Mastered

Answer: A
Explanation:

1-D,2-B,3-C,4-E 5-A

NEW QUESTION 38

_‘l L
l‘“l =
\

|2

Drag and drop the functionalities from the left onto correct networking devices on the right.

Create

ports are different broadcast
domain by default

Firewall

ports can be in the same
broadcast domain

Load Balancer

uses traffic inspection to make
routing decisions

Router

blocks networks traffic by default

Switch

A. Mastered
B. Not Mastered
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Answer: A
Explanation:

1-D,2-C,3-A,4-B

NEW QUESTION 43
Refer to the exhibit.

curl =1 =k -%

H "Accept: application/yang-datasjson’ 3\
U "cisco:cisco’

HTTP GET

HTTP 401 Unauthorized

"GET™ "https://172.18.110.64:443/restcont/data/Cisco-10%-XE-nat 1ve:native/hostname™ \

Fwrvet s i Of o chevece

An administrator attempts to perform a GET using the Cisco IOS XE RESTOCNF API to return the hostname of a device. The sequence diagram illustrated the
HTTP message observed. Which change to the API request resolves the issue?

A. Add Content-Type HTTP header with 'application/yang-data+json’ using —H ‘Content-Type: application/yang-data+json’.

B. Use -u cisco: cisco instead of -u ‘cisco: cisco'.
C. Change the request method from -X "GET” to- X' POST".

D. Remove the -H "Accept: application/yang-data®/son’ HTTP header because it is not required.

Answer: B

NEW QUESTION 45

What is the purpose of a MAC address?

A. To uniquely identify a router in a LAN

B. To uniquely identify a network interface in a LAN
C. To uniquely identify a device on the internet

D. To uniquely identify a switch in a LAN

Answer: B

NEW QUESTION 50

In DNS, which record specifies an alias that refers to another name that ultimately resolves to an IP address?

A. AAA

B. SOA
C.NS

D. CNAME

Answer: D

NEW QUESTION 52

Which device is a system that monitors and controls incoming and outgoing network traffic based on predetermined security rules?

A. Switch

B. Router

C. Firewall

D. Load balancer

Answer: C

NEW QUESTION 53

Which principle is a value from the manifesto for Agile software development?

A. adhering to a plan over responding to requirements
B. detailed documentation over working software

C. processes and tools over teams and inter actions
D. customer collaboration over contract negotiation

Answer: D

NEW QUESTION 56
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Drag and drop the element of the Finesse API on the left onto the description of its functionally on the right.

User Represents a skill group in Unified CCE.
Dialog Represents the current state of the system.
: Represents an agent, supervisor
Media or administrator.
Queue Represents a group of users.
Y Represents a call and the participants
eam if the media type is voice.
_ Sends client-side logging
Systeminfo to the Finesse Server.
I Represents a user’s state in a non-voice
ClientLogs Media Routing Domain.

A. Mastered
B. Not Mastered

Answer: A
Explanation:

1-D,2-F,3-A,4-E5-B,6-G,7-C

NEW QUESTION 58

Which model-driven programmability protocol does Cisco 10S XE Software support?

A. CORBA
B. SSH

C. gNMI
D. SOAP

Answer: C

NEW QUESTION 59

Fill in the blanks to complete the cURL command that invokes a RESTful API to retrieve a resource in JSON format using OAuth.

cur .l -~ l I H -

-

apfrai &t b

M - l_ i r Bearer ab ™ 4f N ] = - »
curl =X -H* : application/json” \
-H* : Bearer AbCdEf123456” https://localhost/api/myresource
A. Mastered
B. Not Mastered
Answer: A
Explanation:
See the solution below.
carl x k__-prT ] 1 H = w.‘,[\‘j I: application/ json™ )\
- " Pﬁut'lmllhlﬁlﬂ'i !.- Boarer ALCAR£12345%6" hrtpa://localhost/api/myresource

NEW QUESTION 60

Drag and drop the descriptions from the left onto correct application deployment models on the right.
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provides a low-latency compute capability cose to the data
SOLITCE

emvironment where you pay only for the resources that ¥
L OSErTe

offers a self-service, alastic compute environment from a
dedicated set of physical resources

provides an approach for overflow traffic to burst out to meet |

peak demands |
—_— = :
chared compute platform that s offered overd the Intermat
A. Mastered

B. Not Mastered
Answer: A
Explanation:

1-B,2-E3-C,4-D,5-A

NEW QUESTION 65
Refer to the exhibit.

Public Goud

|
|_

Private Cloud

el

[&bn._t Cloud

1 AL

Edge Computing

T o SSS—

#!/bin/bash
<item 1>='date +%b-%d-%y’

<item 3>=/home/usr/path/data folder

tar —-cpzf $DESTINATION $SOURCEFOLDER

<item 2>=/home/usr/path/backup-$BACKUPTIME.tar.gz

Drag and drop the variables from the left onto the item numbers on the right that match the missing assignments in the exhibit.

BACKUPTIME <item 1>
SOURCEFOLDER <item 2>
DESTINATION <item 3>

A. Mastered
B. Not Mastered

Answer: A
Explanation:

1-A,2-C,3-B

NEW QUESTION 67
Refer to the exhibit.

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



[fsureP522

Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/200-901-exam-dumps.html (100 New Questions)
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Fa0/1 Fa0/1
Fa0/5

Fa0/6

ﬁ-’

o T
50/0/0 QW S0/0/1
10.1.1.0/30 DCE 10.2.2.0/30

S0/0/1

DCE
"""-_;L

R1

"l Fa0/1 iy

S1 Fa0/1 B
Fa0/18

192.168.1.0/24

Fa0/18
192.168.3.0/24

PC-C

Which two statements about the network diagram are true? (Choose two.)

A. PC-A and PC-B are in the same subnet.

B. One of the routers has two connected serial interfaces.

C. The subnet of PC-C can contain 256 hosts.

D. R1 and R3 are in the same subnet.

E. The subnet address of PC-B has 18 bits dedicated to the network portion.

Answer: BC

NEW QUESTION 72
Which two encoding formats do YANG interfaces support?

A. JSON
B. XML
C. XHTML

D. Plain text

E. BER

Answer: AB

NEW QUESTION 75
Refer to the exhibit.

-l
=

=T
=
(]
=
>
>

from cli import =
import json

cli('configure terminal ; interface loopback 5 ;

intflist=json.loads(clid('show interface brief'})
i=0

while i = len {intﬂist['TAHLE_interface']i'RDw_mterface'H:

_— - _

no shut')

intf=intflist['TABLE_interface’] [*ROW_interface'] [1]

i=i+1 o
if intf['state’'] == "up .
print intfl['interface’']

The python interpreter and the Cisco python SDK are available by default in the Cisco NX-OS software. The SDK documentation shows how the cild() API can be

used when working with working with JSON and XML. What are two effect of running the script? (Choose two.)

A. configure interlace loopback 5
B. issue shutdown on interface loopback 5
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C. show only the interfaces In the up status
D. show only the interfaces in admin shut status
E. show details for the TABLE interface

Answer: AC

NEW QUESTION 79
Which platform is run directly using a hypervisor?

A. Virtual

B. Bare metal systems
C. Containers

D. Applications

Answer: C

NEW QUESTION 81
On which network plane is routing protocol traffic handled?

A. data plane

B. management plane
C. authentication plane
D. control plane

Answer: D

NEW QUESTION 85
What is the benefit of edge computing?

A. It reduces ne two« k latency by moving processing doser to the data source.
B. It simplifies security as devices and processing are brought doser together
C. It removes the need for centralized data processing.

D. It reduces data velocity from devices or other data sources.

Answer: A

NEW QUESTION 90
Which two statements about JSON and XML are true? (Choose two.)

A. JSON objects arc collection of key value paire.

B. The syntax of JSON contains tags, elements, and attributes.
C. JSON arrays are an unordered set of key value pairs.

D. The syntax of XML contains tags, elements, and attributes.
E. XML objects are collections of key-value pairs.

Answer: AD

NEW QUESTION 95
What are two advantages of the Model-view-controller software design pattern? (Choose two.)

. simplifies network automation

. allows for multiple views of the same model

. makes code easier to deploy using CI/CD pipelines

. reduces need for error handling

. separates responsibilities of the code, which makes future modifications easier

mooOw>

Answer: BE

NEW QUESTION 100
Which two statements describe the traits of an asynchronous API call? (Choose two.)

A. The order in which API calls return can be guaranteed

B. A call to an API does not block the code, but rather it allows application processing to continue
C. The end user can experience latency or performance lag while waiting for the API call to return
D. Code execution blocks or waits for the call to an API to return.

E. A callback function typically is used to process the response from an API call

Answer: BE

NEW QUESTION 102

Which type of threat occur when an attacker can send hostile data to an interpreter within an application?
A. Cross-site scripting

B. Sensitive data exposure
C. Broken authentication
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D. Injection

Answer: D

NEW QUESTION 107
Which two concepts describe test-driven development? (Choose two.)

A. It enables code refactoring.

B. Write a test before writing code.

C. Implementation is driven by incremental testing of release candidates.
D. User acceptance testers development the test requirements.

E. Tests are created when code is ready for release.

Answer: BC

NEW QUESTION 108
Which two elements are foundational principles of DevOps? (Choose two.)

A. designing applications as microservices

B. encouraging containers for the deployment of applications
C. organizing cross-functional teams over organizational silos
D. optimizing the cost of infrastructures

E. automating over documenting

Answer: CE

NEW QUESTION 110
Refer to the exhibit.

§ pyang -f tree Cisco-108-IE-native.yarg
module: Cisco-I0S-XE-native
+==Iw native
+--Iv logging
+==rw monitor|
+#--Ii severity? logging-level-type

§ curl --insecure -v -X PATCH %
“https://los-xe-mgmt-latest.cisco.com: 9443/ pestoont /data/Cisco-T108-XE-pative native™
-H 'Authorization: Basic IGVZINXveGVYQLMXEINVNTIINDU=' -H ‘Accept: application/yang-data+json’
-H ‘Content-Type: application/yang-dats4json’ \
-d [ "Cisco-IOS-XE-pative:nativer : | “logging” : [ “momitor” : [ “sewerity” : “alerts~ }} ) )’
- BT
£ e
< HTTP/1.1 204 No Content

The definition of the YANG module and a RESTCONF query sent to a Cisco 10c XE device is shown. Which statement is correct if the RESTCONF interface

responds with a 204 status code?

A. The query failed at retrieving the logging seventy level.

B. The query failed to set the logging seventy level due to an invalid path.

C. The query retrieved the logging seventy level.

D. The query updated the logging seventy level or created it if not present on the device.

Answer: D

NEW QUESTION 115

Package updates from a local server fail to download. However, the same updates work when a much slower external repository is used. Way are local updates

failing?

A. The update utility is trying to use a proxy to access the internal resource.

B. The Internet connection is too slow.

C. The Internet is down at the moment, which causes the local server to not be able to respond.
D. The server is running out of disk space.

Answer: A

NEW QUESTION 116
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